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SKILLS PRACTICE 111 NAME
For use with Section 14-2
Trigonometric Identities DATE
" Prove that each equation is an identity.
1 3
1. tan x ° g tan*x 2. (1 — cos B)(1 + cos B) = sin’ B
3. cos* x csc x sec x = cot x 4. (1 — cos* a)(cot @) = sin & COS «
sin x cos x csc x
5. + — = 6. tan Bcsc Bcos 8 = 1
COs X sin x COS X :
3 : % csC X cos x
7. (sinx —cos xy) = 1 — 2sinx cos x 8. —— — —= = tan x
COS X Sin x
9, cscx — sinx = cot x COS X 10. cot x (tan x sin x + cos x) = CSC X
! 11, (1 + sinx)(1 — sinx) = cos® x 12. cscx — sinx = COS x CcOt x
sin x cos x 1 + sinx Ccos X
13. = 14. = -
csC X sec x cos x I —sinx
osc? x 5 sec?x — 1 .
15. = =1 + tan* x 16.—T“:SCCX
cot” x sin® x
) 6,035 .55 2 I —sin® x '
17. tan* x — sin” x = sin” x tan” x 18, ————————— = sinx
CSC X — 8Sin x
sec x — COos5 X N g 5
19. = = tan’x 20. sin x (csc x — sin x) = cos® x
CcOSs X
)
.
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